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Router

Bridge
Repeater

Hub

Your IEEE 802.3 X.25 ISDN 
switched-packet data stream 
is running at 147 MBPS with 
a BER of 1.523 X 10    . . . 
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Freq.   Wavelength
60 Hz 5000 km
10 MHz     30 m
1 GHz     30 cm
40 GHz    7.5 mm
100 GHz      3 mm
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Port 1 Port 2E

S11

S 21

S 12

S 22

ES
ED

E RT

ETT

EL

a 1

b1

A

A

A

A

X

a 2

b2
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= fwd reflection trackingE = fwd isolation

= fwd directivity
= fwd source matchE S

ED

RT

= fwd transmission tracking
= fwd load match

ETT

EL

EX

= rev reflection tracking

= rev directivity
= rev source matchE S'

E D'

E RT'

= rev transmission tracking
= rev load match

= rev isolation
ETT'

EL'

EX'
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phase reference plane

Remember: 

• Phase is a relative 
measurement 

• Must be made on two 
signals with the same 
frequency
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•CDMA Power Amplifier module
•4.0 x 4.0 x 1.1 mm package
•28.5 dBm linear output power
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Pulsed spectrum

Response of 500 Hz digital IF filter and pulsed spectrum

Pulsed spectrum(zoomed)
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Pulse test set
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